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PHILOSOPHY

( General )

(Indian Philosophy—I )

Full Marks ; 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions/Choose the
correct answer : 1x10=10

(a) What is the meaning of Astika?

(b) Carvaka Philosophy is known as materialism.
( True or False )

^  ̂ W I
(  <IT )

(c) Vedanta Philosophy is Astika/Nastika
Philosophy.

Tf*f^ 1

14A—12500/1176 {Turn Over)



( 2 )

(d) What are the two branches of Jainism?

bsR *tNT ̂  1% i%?

(e) Who is the first Tirthahkara of Jainism?

c<pH ?

(f) Does Jainism accept God?

(g) Who is the founder of Buddhism?

C<Pl'i ?

(h) What does 'Arya' mean?

^"5n^1%?

(i) What is the root cause of suffering according

to Buddhism?

Tf*f^ 2f«fR ?

(j) Does Carvaka believe in Atman?

"BRN "RWT ?
2. Give short answers : 2><5-lo

faj What are the Astika systems?

1% 1%?

(b) Why does Carvaka not accept ether as the
basic element of the world?

^ C®TRT^?
(c) What is the meaning of Anekantavada in Jaina

Philosophy?
1% ?

14A—12500/1176 ( Continued )

{ 3 )

(d) What does *Bhaba-cakra' mean?

(e) What are the three Pitakas of Buddhism?

(RRi

3. Give answer (any four) : 5x4=20

iw (R vl^) :

(a) Explain Upanisadic Philosophy..

^  Rrt I

(b) Why does Carvaka Philosophy accept
. naturalism?

TSRRs R>?r 73^5I5RPf SR4 ?

(c) Describe in detail the seven forms of
.  Judgement advocated by the Jaina.

<\^\k Rrt I

(d) How many M^gas or Pathas are there in the
Fourth Noble Truths of Buddha? What are

they?
^  R>!»jHl5l "SJT^ W

<pRc^? '5iT9fc^\i5j R> R»?

Discuss the doctrine of the non-existence of

the soul of Buddhism.

14A—12500/1176 ( Turn Over )



( 4 )

4. Answer any four :
C<p1c»hI

10x4=40

(a) Is pleasure the highest end of human life
according to C^v^a? j

?

(b) Perception is the only source of valid
knowledge according to C^vaka. Explain.
■5R(% avsl^ I ̂ TNn

1

(c) Explain the Jaina metaphysical theory called
Anekanfavada.

(d) Discuss Jaina epistemology.
Xf»j^ I

(e) What are the Four Noble Truths of
Buddhism? Discuss.

^ 71^ 1% 1% ? vbilCoilbHl W I
(f) Explain Upadhisesa Nirvana and

>^upadhisesa Nirvana of Buddhism.

(g) Give 201 account of the doctrine of
momentariness in Bauddha Philosophy.

★ ★ ★

3 (Sem-4) PSC
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14A—12500/1176 3 (Sem-4) PHL

POLITICAL SCIENCE

( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer either from POLITICS IN INDIA—II

or from INTERNATIONAL RELATIONS—II

( POLITICS IN INDIA—II )

1. Answer the following as directed : 1x10=10

v5»r5 R^1C<1I44 ^^4 fen :

(a) WhiO is the ex officio Chairman of the
Rajya Sabha?

^4Wr5H C<Pl4 ?

14A—50*71175 . (Turnover)



( 2 )

(b) Who is the head of the Civil Court at

the district level?

(c) Which Lok Sabha Election resulted in

a Hung Parliament?

C<1>H(5| R<lfHv5 ?

(d) The Council of Ministers is

responsible to the Lok Sabha /

Supreme Court / President.

(Choose the correct answer)

'•rliRWr

vsw I

( ^ )

Whether a bill is a Money Bill or not,

is decided by the Vice President /

Speaker / Judge of the Supreme
Court. (Choose the correct answer)

^ (?T ̂  ̂ ^

I  ( ^ )

( 3 )

YO The Supreme Court of India was

established in the year 1950 / 1951 /
1952.

(Choose the correct answer)

X5R^ ̂bbvoV ̂ URITO ^ 1950 /

1951 / 1952 ̂  I

(  ̂ )

/jgf) The Prime Minister controls the

Contingency Fund of India.

(Write True or False)

I

(  (?T f^PIT )

(Ji) The President has four types of veto
power.

( Write True or False )

^  I

( (?T )

14A—50*/1175 ( Continued ) 14A—50*/1175 ( Turn Over )



( 4 )

(i) When the Parliament is not in Session
the President can issue —.

( Fill in the blank )

I

( ^ 'pn w )

0) Impeachment proceedings can be
instituted against the President

under Article of the Constitution.

( Fill in the blank )

2am

2. Write very short answers : 2x5=10

Write two miscellaneous powers of
the Supreme Court.
^egissr juraism #1 "wsf 1§pn I

( 5 )

(b) Write two arguments in favour of

judicial activism.

(c) Write two principles of the Bharatiya

Janata Party.

v5H^ ̂SFTST ^ I

(d) Write any two special powers of the

Governor.

(e) Write two criticisms of the imposition

of emergency powers by the

President.

^5}^ c?n^®rf ̂  ^

<p«^| I

3. Write short notes on (any four) :

(5m ̂piT (ft (^m Fifti^):

(a) Role of the Supreme Court as
Interpreter of the Constitution

^TNJR#

5x4=20

14A^S0*/1175 ( Continued ) 14A—50*71175 ( Turn Over )



( 6 )

(b) Role of the Chief Minister

(c) Fast-tract Courts

(d) Revenue Courts

(e) Powers of the Union Council of
Ministers

"Sift 'War

(f) Administrative Tribunal and Public
Interest Litigation

4. Answer the following questions : 10x4=40

^^551^ fen ^ :

(a) Discuss the composition, powers and
functions of the Lok Adalat.

W5I ̂  WilW I

14A—50*/1175 ( Continued )

( 7 )

Or / ̂smr

Discuss the role of Pressure Groups

in Indian politics.

v5hW -qj^^ivo c^nfk ^R<pi
^ICellHl ̂  I

(b) Discuss the powers and functions of

the President.

•apajval ^Spp I

Or /

Discuss the powers and functions of

the Speaker of the Lok Sabha.

Coil<P-nv»|<^ •apa|V51 WilWt

(c) Discuss the powers and functions of
the Governor.

14A—50*71175 ( Turn Over )



( 8 )

Or /

Discuss the powers and functions of

the High Court.

^  ̂-.wrfW ^ic<=iiHi

w I

(d) Trace the evolution of judicial
activism in India.

Or / wmr

Write the main principles of the

Congress Party.

TfwR "Jpf I

( 9 )

( INTERNATIONAL RELATIONS—II )

Attempt any four from Question Nos. 1 to 8

1  SOT ̂  8 snabr ft sot

1. What is Toreign policy'? Discuss the

relationship between foreign policy and

diplomacy. 5+5=10

Iwr ^^1%^ ft 'ft^^ ftft' ̂

ft̂  ^ I

2. What is meant by 'non-alignment*?

Discuss the importance of this principle

in the post-Cold War era. 5+5=10

ft ̂  ? %55r

3.'Discuss the formation, charter and

objectives of the UNO. 10

I

14A—50*71175 ( Continued ) 14A—50*71175 ( Turn Over )



(  10 )

4. Ev^uate tHe aims and importance of the

Millennium Development Goals. 10

^  I

5. Discuss the efforts of the international

community in addressing the issue of

arms control. 10

WSTTRT "W 1

6. Discuss the functions and importance of

the World Bank. IQ

7. Discuss the various types of

non-traditional security threat faced by
the developing countries. 10

2RW

V51^ W I

14A—50V1175 ( Continued )

(  11 )

8. Discuss the various methods through

which diplomacy is practised by

Nation-States. 10

^IHlbHI w I

9. Write short notes on (any four) : 5x4=20

15^ C&m (ft C^R=TT ^

(a) Colonialism

(b) DisEirmament

(c) Non-aligned Movement

(d) Neo-colonialism

(e) International Monetary Fund

^g^lfft^J^lftft

(f) Trusteeship Council

14A—50*/1175 ( Turn Over )



(  12 )

10. Write about the following very briefly :

2x5=10

(a) World Trade Organization

(b) Strategic Arms Reductions Treaty

(c) United Nations Security Council

(d) Nuclear Nonproliferation Treaty

(e) Strategic Arms Limitations Treaty

11. Answer the following as directed : lxio=lo

(a) The World Bank started out as the

IBRD. (Write True or False)

^ (am 'sr^. ft. 1^.

I  ( (3 ftr«n)

14A—50*/1175 / Continued )

{  13 )

(b) The headquarters of the UNO is

located in which city?

(c) The Nuclear Nonproliferation Treaty

entered into force in

(i) 1968

(ii) 1970

(Hi) 1972

(iv) 1974

(Choose the correct answer)

"^-SPTR

(i) 1968 15^

(ii) 1970 IFTS

(Hi) 1972 'U^

(iv) 1974

(  ̂ ^f%vS?|T )

(d) The International Monetary Fund was

established in which year?

cw ̂  ?

14A—50*/1175 ( Turn Over )



(  14 )

(e) The headquarters of the Intemation^

Monetary Fund is located in

Washington DC.

(Write True or False)

^

I  ( (71 1^ )

(f) Ban Ki-moon is the seventh Secretary

General of the UNO.

( Write True or False )

("m (7T )

(g) The Permanent Five' members of the

UNSC have the ttght to veto'.

( Write True or False )

Tfw

^ W5T' I

( (7T 9m )

(h) In which year was NATO established?

^ (NATO)

(  15 )

(i) The World Trade Organization csime

into being in

(i) 1990

(u) 1992

(ui) 1994

(iv) 1995

( Choose the correct answer )

(i) 1990

(ii) 1992 ̂

{m) 1994 iR^

(iv) 1995

(  ̂ )

(j) Uruguay Round of Talks is related
with disarmament and arms control.

( Write True or False )

I  ( 9m )

-k -k "k
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ELECTIVE ASSAMESE

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

:  ̂xbo=io

(^) 1^ ̂spilhlT ^ 1% ?

"^spi^hiT ̂ i<iivs -^iPi-tw^wP) 1% ?

(«) \»i^ ̂f^5r ?

(■&) ^5pl%IT ^l<J|vs 'TSPfR <PH<P ?

(^) %«fT I

(^) STSIM 1% i% ?

(^) a?fR ^ 1% 1% ?
(*^) ^ 1^ ̂ PlC^I 1^ ?

14A—7000/1166 (Turn Over)



( 2 )

I  :^x<?=bo

(^) ^5R!^ 2!i^ cw?\, ^?nm=r

<pRf^®i ̂ 1*^ <iji<p^®r*R^ •TR i% ?

(^) -^RiCci 1% ̂  (.<l»wt<t> ̂  ?

(^) ^SRT® C<P^I RR* 1% i% ?

(^) wR "=1^

i%1%?

(5S) ^sfe^TfSf Xf^ "W (Rl^, ^^WM.RrT I

^1 "R CTOT sm ^ • (txs=:^o

(^) R^2n®f "SI^2IT®t "^picci 1^

^^l^<lC«f(R ̂ ^TNTT ̂  '

(5f) -3^^ ^ RR5 "R\»(^<^
1%, I

(^) vsj^vo STSR R^'l^hn v»i<tivo xsf^jvs
2r5BR -jf <1^ "RtTI I

Rrt I

(^) R7|%T

Rrt 1

14A—7000/1166 ( Continued )

( 3 )

8 I (^) f% ̂ ?
"#%T^ I ^o

(^) '=TfeTHi

I  (^) R^#5n ̂ »RT^ 1^ C^

1% 1% ? ^wjM'R R1?F

vsiRj<t>i 21^ w I

^g^c(i)lqj\5 ?Rit RcT^t <P'^I I io

('f) ^oRT^ 1% 1% ?

RI^ vd]Ri<pI^m3'
^ I ^ RIWR^
^Tfl^cf 1W I

<d I (^) 1% voRTa
-pfRvs i£i<t><iM<m>4

C^CSTW^HR SJ^^f RpIT I

R7i%i ̂Rl^ ̂  ? ^o

(^) ? ̂^<ii%9|vsv»ic^
"Ri 1% ̂*>1^ ̂ 91R ^ICfillMI ̂  I

14A—7000/1166 (Turn Over)



( 4 )

^  (?n^ i"

^f8»^^vsl 2l1%^ 1 ^O

(^) ^5pi^t?n \»WM ■Rf^ ^^"3! ■n'Sfc^
xsftMW ̂  I

★ ★★

3 (Sem-4) BEN L

2 0 14

ELECTIVE BENGALI

(  : >6||sg^|H<|» ̂  )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Rct'^ vbM3«^ frT^ :

W  C5n?f^ ?

('f) I

(^) 'to ^[p^* vs c^ ?

(^) ̂ 5^T%^=r ^I(?«fJT^«JM, W, wn5^
«  ̂inSfe 1^—<4bm w

(®) vQ

(^) ''3;c'»f"HFn^' 2f¥P*RsM "2??r
(i) iv^b-

(C^) ^Vdh-

(vs)

(s) bVS&o

bxbo=bo

14A—7000/1166 3 (Sem-4) ASM L 14A—1000/1173

( c«ic^)

( Turn Over )



( 2 )

CT c^T(?iT

I

(^) <l^3I*il(.'<I^ Picf^f <PWl 1

(^) vsmm^ c^ <21% i^m ?

(i) ,

.(>0)

ic (s) ^TRTPT

(  C51C^ )

(^fp) WC^?

(:>)

(;t) torw^r^i^

(\s) ^-q^ar-ilvf ii^<?

(8) ^Co1'iiHl«?f

( CSfctT)

(^) C^ C^ ?

(^) 'viRT' ̂  1% 1^ ?

(sf) "5^ ceT<lc<P5j ̂  Pi(."rl 1

(^) ^

(®) "snfcj^ "5!^ ^ 1

( 3 )

01 (CT C^IC^TT "51^) : 4x8=-^o

(^) \co\^ %5m 1% 1^ "to C^, C^r^Rs
C^?

(^)

(«) '^'•(•$^1^ <1MI<1^ C5|^ 1

(15) ?[OTU^ ^»RJPi ■'fR:# 1%
^H?

8 I CT C^TOT 2R?I^ • >0x8=80

14A—1000/1173 ( Continued )

(^) =<I^vib*ii •5(:tr^(TTO^^
RSfl^ C^F^vsi # ?

(5f) ^Tn»1T ^<itH
(?CT I

(^) <?i "c^FiM ^srrc^nHr :
(i) R^iUcIH 153H^
(^)

14A—1000/1173 (Turn Over)



( 4 )

(^) c<plc-il R<ICil

(^)

W ilTSTCWW

(«) Jicvo)*3«il«?r w

C^ :(^) (?[ CTO7T

(i) Wf*l^

U)

■  («). ^VS|«}p|

★ ★ ★

14A—1000/1173 3 (Sem-4) BEN L

3 (Sem-4) HIN L

2 0 14

ELECTIVE HINDI

( Hindi Natya Sahitya )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full mar}^
for the questions

1. • 1x10=10

(^) ^ 1^rf^ ^

(^) -lldtti % 37^ ̂  ^
W t?

(^) ^ ^ t?
(^) "sfk 3^ *ft ^#*1^ ̂  "f^T^r ^

WT t?
:(•-

(^) 45T t?

■5FT

(15) ^ ^ ^
(^) ^ ^ ̂  ^ t?
(^) 'ifrTT ^5^ t' ^ ^ f ?

14A—800/1205 ( Turn Over )



( 2 )

(^) ^ <gi<i ^ "^1...
«rt ̂  %i" ^ ^

3fl7t? TR^ ̂5«R ̂  -f^

^ ̂ |37T ̂  %?

2. RHQifidd 3R^ % ^ : 2x5=10

(^) TI^ (^t^) ̂  ^ xiiRBlch
^cTT^I

C®r) ^r?JTR' ^ ̂
^tf^l

(T) "3iTT?T? ^ ^ 3711^, 3TN^ ^
3Tr5r # Tifr IR^ ^

(^) TR?^ ('^ ̂  37^ ̂  ^

(^) Xr^ M ̂  f ?

3. RHi^fi^d 3R^ ^ ^ ;3^ .

5x4=20

(^) '<=tjVll4)' ^TTZ^ % 17^ iq^ ^T^I

(13) ^ TJ^ ^ ̂qgff^

(tT) *11^ ̂  «7k' "^^>7# % "H|iqch<ui ̂

14A—^00/1205 ( Continued )

I 3 )

(^) ̂  ('Tfrn w %') ̂  ^H^i

(^) ̂ ^HKWUI 1ir?7 ̂  iqft^ ̂ tf^i

(^) HldchchK WJ^t^rep^ ^ d)4)Rl^dl %

4. 3qf^T^^ ̂  ̂  ̂ *di>l|cf>' ^ 10

3T8jgT

^ 4il\}^ch -f^i^wsfi ̂  ̂Tdil^d ^tf^i

5. RHl^PsId ̂  X73JXRi oqiisui : IQ

(3>) sftx ̂ ! % 37^ ̂  W 4!^ t?
?J7 ̂ X7^ PldKul ̂ 1

wrar

(71^) »^U||->^U|| cit ^1 ̂ 7% ̂ 7^ %,
-^spn3 t ̂  t, 3fk ̂  ̂  ̂ ̂  ti

^i-^KI c|ldlcKU| ̂  dldM<u| ̂  ̂  ̂Rd7 tl

6. TT^JT^-^JeTT ̂  ̂  ̂ '^57^' 3T^ ^ %'
l^cbicQ ̂  10

7. 'ti5F 37^ ̂  3T«raT "^?17R'

■^^77^ % Trfc7q7?r 77X 37^757377 ^7i^ I 10

★ ★ ★

14A—800/1205 3 (Sem-4) HIN L



3 (Sem-4) ENG L

2 0 14

ELECTIVE ENGLISH

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

SECTION—I

( Novels )

1. Answer einy five of the following as directed :
1x5=5

(a) Who is Benjamin?

(b) What was the name of the Father who
had beaten Stephen for sitting idle in
the classroom?

(c) Who is the protagonist of Great
Expectations?

(d) Who is the author of Animal Farm?

(e) In Persuasion, Mary was married to

( Fill in the blank )

14A—1000/1201 ( Turn Over )



( 2 )

(f) Where was Moll Flanders bom?

(g) Who is Mr. Jones?

(h) Great Expectations presents the society of
Eighteenth centuiy/Nineteenth century
En^and.

( Choose the correct option )

2. Answer any five of the following questions :
r

(a) What happened to Louisa at Lyme?

2x5=10

(b) What, according to Stephen, are the
three main literary forms?

(c) How did MoU spend her early childhood
under the pious lady and what was
MoU's aim in life at this point of time?

(d) How does Frederick cheat Napoleon?

(e) Who brought up Pip? What does the
author mean when he says that Pip was
raised 'by hand?

(f) Narrate Stephen^s adventures with
Aubrey Mills.

(g) What did Old Major dream and what did
he tell the animals?

14A—1000/1201 ( Continued )

( 3 )

3. Answer any three of the following questions :

5x3=15

(a) Describe Moll's experience in Newgate

Prison before her trial and conviction.

(b) Narrate the incident that took place at

the first Christmas dinner of Stephen

with his elders.

(c) Give a character sketch of Abel
Magwitch.

(d)

(e)

(f)

(9)

Narrate briefly the role of the parents
in the development of the plot of

PersuasioTL

What effect did the retreat have on

Stephen? How did he change his life
style?

What role does Boxer play in the farm?

Why does Napoleon feel threatened by
him?

Describe Moll's liaison with the

baronet. How does she become his
mistress?

14A—1000/1201 ( Turn Over)



( 4 )

4. Answer any three of the following questions :
10x3=30

(a) Give a character portrayal of Anne
Elliot.

(b) Give an account of Moll's relationship
with the man whom she calls her
Lancashire husband'.

(c) "Prisons and criminals, cruel and lanjust
institutions, helpless and unhappy
children, greed for money and power—
these are recurring themes in Dickens'

plots." Discuss with reference to Great
E^qpectations.

(d) Discuss Joyce's A Portrait of the Artist as
a Young Man as the stoiy of Stephen
Dedalus's development and growth into
an artist.

(e) Discuss the character of Miss Havisham.
What role does she play in the life of

Pip and Estella?

(f) Compare the li^es of the animals when
they live under Jones and then under
Napoleon. In what ways has Napoleon
proven himself to be a similar tyrant?

14A—1000/1201 ( Continued )

{ 5 )

Section—II

( Short Story )

5. Answer any five of the following questions : 1x5=5

(a) Who was Harvey Maxwell?

(b) Who is the author of The Romance of a

(c)

(d)

(e)

(f)

Busy Broker?

Who is the protagonist of The Garden
Party?

Who provides Paul the money that he
uses to make his first successful bet?

Who is Joan in The Rocking Horse
Winner?

Why did Pitcher say, the old man was
getting more and more absentminded'?

6. Answer any one of the following questions : 5

(a) How does Katherine Mansfield explore
the theme of death and life in her short
story, The Garden Party?

(b) What was. the strange thing about the
life of New York broker? How does the
busy broker's office look on a working
day?

(c) Give a character portrayal of Hester.

14A—1000/1201 ( Oyer )



( 6 )

7. Answer any one of the following questions :

(a) The author makes use of situational
irony at the surprise ending of the
story, The Romance of a Busy Broker.
Discuss.

(b) How does Mansfield portray the psycho
logical growth of her protagonist in
The Garden Party?

(a) "The pursuit of money and material
riches are the issues addressed by
D. H. Lawrence in The Rocking Horse
Winner.^ Discuss.

■jtr ★ "At

10

14A—1000/1201 3 (Sem-4) ENG L

3 (Sem-4) EDN

2 0 14

EDUCATION

( General )

( Sociological Foundation of Education )

Full marks : 80

Time : 3 hours

The figures in the margin iridicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

(a) "Educational sociology is the
interaction of the individual and his

cultural environment including other

individuals, social groups and pattern

of behaviotir." Who said this
statement?

14A—50*71206 ( Turn Over )



( 2 )

(b) What is the meaning of the word
'socious?

'Socious' 1% ?

(c) Primary groups are always large in
size.

(Write Yes or No)

voji^l^vo "JpfBT I

(?T

(d) What is the name of Sumner's
renowned book?

^ 1% ?

(e) Write one characteristic of group.

C<Pl§i I

ff) What is social system?

(g) Is culture inborn or acquired?

14A—50*71206 ( Continued )

{ 3 )

(h) Give a definition of modernization.

(i) Mention one cause of imbalance in
education.

(j) What is the full form of MDG?

MDG-"4 ^

2. Write short answers :
2x5=10

(a) Write two characteristics of sociology.

':r>

(b) Write two differences between
folkways and mores.

(c) Write the concept of formal social
organization.

I

14A—50*71206 ( Turn Over )



( 4 )

(d) Explain the relationship between
education and culture.

i*i*sph "siWs ^5^ 1

(e) Write two problems of social
education.

^ wm I
i

3. Write short notes on (any four) :

^ C&m 1%^ (1^ :

5x4==20

(a) Relationship between sociology and
education

(b) Social interaction

(c) Accommodation

(d) Education as an instrument of social

change

14A—50*/1206 ( Continued )

( 5 )

(ej Factors of social organizations

TfpnfiRj

(f) Delinquency

Answer any four questions :

ft : '

4. What do you mean by educational

sociology? Discuss the importance and
needs of sociolo^cal approach in
education. 2+8=10

ft

2fOT5(%vsr W I

5. What is leadership? What are the types of

leaderships and qualities of leaderships?

2+4+4=10

ft ? 2ITO ft ft ?

6. What is social control? Discuss about the

two agencies of social control. 2+8=10

ft?ng4 ft ? ^

14A—50*71206 ( Turn Over )
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( 6 )

7. Define social change. Discuss the various

factors of social change. 2+8=10)

1^.1 ^<v£h<1

8. What do you. mean by social
disorganization? Write about the

characteristics and causes of social

disorganization. 2+8=10]

-OIICIIOH W 1

9. Explain the concept of cultural lag. How
to develop cultural integration in India?

Discuss. 3+7=

I

10. Distinguish between modernization and
westernization. Discuss the impact of

westernization on Indian society. 4+6=10'

I

14A—50*/1206

nt«#T ^ I

( Continued f

{ 7 )

11. What is equalization of educational

opportunities? Write about the measures

to be taken for equalization of educational

opportunity. 4+6=10

sRff

1^ I

★ ★ ★

14A—50*/1206 3 (Sem-4) EDN



3 (Sem-4) PSY

2 0 14

i  PSYCHOLOGY

( General )

FuU Marks: 80

Time: 3 hours

The figures in the margin indicate fidl marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions/Fill in the
blanks : 1*10=10
^5^ ^ ̂  :

(a) What does abnormal behaviour mean?

ft)) What is tesomnia?

1%?

(c) What is 'addiction?

i^?

(d) Write the full form of ANT.

AN'n ^ '

14A—200/1177 ( Turn Over)



( 2 )

(e) Mention the name of a stimulant drug.

"IR I^Prf I

(f) Suicidal tendency is an indication of

^ ®i^®r I

(g) The most popular mind-blowing drug is

"SR-^csfRrr OT 1

(h) Name any one criterion of abnormal
behaviour.

^5rn5^«f^ "R C'9ic*<i Rp(t i

The major physiological effect of heroin
is .

2f«n=T I

0) What is 'amnesia?

1% ?

2. Answer the following questions : 2x5=10

(a) What do you mean by behaviour?

14A—200/1177 ( Continued )

( 3 )

(b) What is heredity?

1% ?

(c) Mention two stages of alcoholism.

(d) What is suicide?

Rs ?

(e) What is drug addiction?

R?

3. Answer any four questions from the
following : 5x4=20

R c^iCTi 2RH Rrff *

(a) Explain the term 'alcoholism'.

(b) State any one criterion of abnormality.
v&|<^|vsi|R4^H R C^ICTT I

(c) What are the major crisis situations
associated with suicide?

^  a«iH aRRRm

R?

14A—200/1177 ( Turn Over)
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( 4 )

(d) Write in short about the vairious types of
drugs.

(e) Write any one factor' that leads to
abnormality.

9m 1

(f) Write the characteristics of normal
behaviour.

4. Answer any four questions from the
following : 10x4=4q
^5^ft SOT :

(a) How do you differentiate abnormal
behaviour from normal behaviour?
Discuss in detail.

(b) Discuss the emergence of scientific
viewpoint related to abnormal
behaviour.

—^200/1177 (Continued)

( 5 )

(cj Discuss the causes of abnormality.

(d) How can drug addiction be prevented
and treated?

^  nrft ?

(e) "Alcohol is dangerous to health."
Discuss the various aspects of this
statement.

^  i" ̂  ftf^
ft*fCTK ̂ ic®iImI I

(f) Discuss the main problems and causes
of drug addiction.

xsiptI^ 2t<JH WmCOT ̂  4HMWH

(g) Write the major causes of suicide among
the youth.

a|l«rvo W5R5H4 ST'fR I

★ ★ ★

14A—200/1177 3 (Sein-4) PSY



3 (Sem-4) HIN MIL

2 0 14

HINDI

( Modem Indian Language )

( Hindi Natya Sahitya )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. RnRlfildd % Tjof ^ ;3tR ; 1x10=10

w t?

(W) ^ ^ W ̂

ti" ̂  Ri«<+>i %?

(n) 3TR^ ̂  t?

(it) to ̂
31^ 3n|?I ^TREf> ̂  ̂ #rtol

(^) ell"<=H ^ "iH *WI %?

(^) % TT^iT^NiK ??

(^) 'aflvito ̂  37Ttot TRf' % *3Tt1M Tier'
^ to w t?

14A—2200/1204 ( )



( 2 )

(^) ^ ̂  -sfm %?

(^) ^ 1^ 3q^ f ?

(^) *mi 1^ M

%?

2. PlnOlfikd 3R^ % : 4^5=20
(^) »ii<i«t) % 1^ 1%^ ̂  cfr^ ̂  4^=^

^tf^l

(^) TRkm ̂  HrWcTR

(T) ^ nra 3flT ^TFTft^
3f|^ •0«5raT ̂  ^51^1 ;3^! %^ft ^
^  "4^, "5^
^ ̂ ̂  ̂ 1^ t?" ̂  I?

3TRR w ̂tf^l

("^) '«fN>' ^<«t>i«Q ^ WITaf % PiM 'T^q'fTq
^ 1^ 3ra5R f3TT %? 3T1#^ ̂t1^|

3. mm smmi : 8x2=16

(^) ^frt^RT

ti ̂  ̂ ^ ^ ^ ̂
3^ ̂  ^Rkrr t ̂  % 1^ ^
^1

14A—2200/1204 ( Continued )

( 3 )

aram

3# t, ̂ dl^d ^ ̂ ̂  ̂  'H

1% f 3^ ̂  «iHlJ>Mi... 3t

4^ «rrf^'2J^5ft^ «R 37f^r^Tf|cTTf[ni

(T&) "sf^ ^3ft 3^ 3Tf5r^3!! ̂  ̂
^rmKOT andM ̂  ̂  ^ t
^ ̂ W, ̂3q[% ̂  ̂ cR5 ̂  ̂
■']^ tlHIcl I

3T«raT

TT^ "4^ ^ ^ fcWT % "pr ^ W ^
Rc<?Pld # ̂ 1 4?^ ̂  ^
^ 1^ ̂WrST 3TRIT STT, 4? ̂ ^14 I

4. l^chlcO-^^ ^ ̂  ̂  '3fti4#4 ^ 3Tif^ TRf ^

3T«WT

i^ehicQ % ̂  ̂ ^ 1^ "feffem
5. '"1^ ^ 4Tp5m TWR 4R4» %|"

3T«raT

'1lF^ ̂  4T3^ ^ 331^

31^ cR^ ^ «w»eidT toft tl

10

10

14A--2200/1204 ( Turn Over)



( 4 )

6. WtT 3R^ % : 2x7=14

(^) 3TFf% 1^ ̂  t?

(^) ^ ^ t? ^ 1^
^ ̂ cF^ %?

(t) 3tn% ̂?fl;cr ^ ^
3#0 ̂rf^i

(^) 1^ 3nTT^ ̂  ^If^i

(^) ««He«lOdld ^ lESRRT ^ % 1^ ̂ i^QTRT?T
a<cQ«( 3iM«ii^ f ?

(^) irmto ^ ^

(^) T5W^ 3RFK % f? 1^ 3R>R %
^

(^) ^cbicfi ^ leifeRi

(^) ^ ^ HIHch<u| ̂  FTsNxTT ̂  3Tq;fj
TRT "SItF c^tf^l

★ ★ ★

3 (Sem-4) BOD MIL

2 0 14

BODO

( Modem Indian Language )

Full Marks : 80

Time^ 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

%T : 1x10=10

(^) M^H\U <MlR«dl ^

('m) J|N<il^1^?

(t) ^ Ty:|irr ^

(^) i^UFTT qSTR Wt^ HT

3TRTft "f^RRRRT ^Jtietlnli?

(^) 3TRTfbTT

14A—2200/1204 3 (Sem-4) HIN MIL 14A—6500/1171 ( Turn Over )



( 2 )

(^) HRPTT ̂

(■?r) yicinidPl «n^ ^ruptt

(oi) el«ii<mPi
HNiR ^TRltl

2. <h1hW«M|R^ ^snt to : 2x5=10
(^) 3TMrf% %%R§TfcT dNlH^I "RT ^TT

(^) R<iRn in
Wfmtor?

(^) swrftpiT ttt ttt -yidiH)?

(^) "Ritr ^115^1 in^ 3TT^ TTHt "f^ifror

(^) :T5n^RR wkRT wrR^ 3tt^

3. ^Ii5nR «rR%-^TRT iflw^p ^ • 5x4=20
w sjraiftft ^ ^^1
(^) straiten tetiin: inftft -nraterat irit ?rai

(^) tilcjHs^ %%r ^rn^TT -f^FTT^ 3TRt

(w) ciraiRR sti^nlten %nt 'RhniRi wraiteft
sn^t ^nna n

14A—6500/1171 ( Continued )

( 3 )

(^) RilNp jfeRT^ ttRtR
WTPRhiW?

W 31Kt Tn^ #Tt

4. '■%' ti^HiPl ^ng*TT hniR^
^1 10

"^SfT

^hmR 41% 3Tn|vh:^ ^ itrsikt

5. ""Ruft 3TT^ ^dHWI
37^ T§hm# yd^llR J4>NN|C| f^^RI IQ

TTTf^R^ ^ 3nft ^ ^kIhIh
1^1

6. 3TMTft4T 4T4f^ 31Rt RhMnR ^ ̂STRIRFTR 3qR
TJT HKflfk? 10

3FTTf?FTT Ml^^dl ^ ^
^Ph^TFRFi ^ 1^1

14A—6500/1171 ( Turn Over )



( 4 )

7. Tn 3TRt dNiO'MI m cTT^Wtq?

dNlO-Ml ITT 1^1 10

^MRsdR #af^ ̂ WTT t[rr^ 7n^ ^ ̂
dl^HH SIRT^ H)HI«dl ̂  ̂tt wft?

★ ★ ★

14A—6500/1171 3 (Sem-4) BOD MIL

3 (Sem-4) BEN MIL

2 0 14

BENGALI

( Modem Indian Language )

Pull Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

>x^o=^o

(^) CW3TO ^5n%^ 9(us
•ilWfedH ?

(9f) ft ̂  ̂ ?

W ̂ 5n% ̂  y\^\Oji\ >|vol<|>R ?

(«) ^ 7i3ii5 c«Tr«r ^

(^ (?tWi ^

14A—2500/1203 ( Turn Over )



( 2 )

I

(^) "IMH 'RC^im ((Tf C^IM <lRsi^) :
I

,i

:i^x(i=^o

W  cwBf ^
C^t<lfeoTi ? ̂  ^ ̂ %I ?

^  W *^-^-^^iWT'-^ ̂  ft ? '(?R?n teen' ad5
^Id*? * ̂ *1 -^-jj^vsic-i'

(sr) v<i^ 'Vc^' (TiTd^ 9ife '(71^' ̂

*fc^ <1HldH5] CTOI ̂ IT^ ̂  ̂  c^?

(^) -^HH ̂ 9ld5i^ "sidijj -sHHfD <PWI :
-Prt^__'!ti^; 1^^—t^?iTO I

(®) 1^TO«t "5)^

f 3 )

Ol RjjRlR^ 21d5I^ "'fT^ (CT t-vlcil ■^) : 4x^=>o

■nNCspcf ^idoiioil I

W ^FI^doT^ Rcil^l ^«i\o<qi voit^5T ¥1^
C"llll?l ^I««3V0| I

(9t) '%sf\ c^
''tt^ W I ' ■

8 1 <7i C^IM 1^ £ld9?r : ix^=^o

(^) (TT CWF{\ ^ *ITO 1%^ 1%^ ^
l^CTl

^ ; "^ ; 5I^«f; "TO I

(•^) (?r c^iM ^ ̂iR% ^ ̂  ?n55iT
*?Wl :

"^; ; fl^ (TWT;
*?l"5i I

(5r) wTs ̂ 1§i wr: - (t
(^) 'laRT WT <151

(^) ^ ^V3( <pi^l ^<\ ̂  1

(«) % (7f ^sn# ^ ^ i

(8) iStwr v2!^ w*nft ^ "w!^«f
I

(<^) W (TT ^®RpPt

14A—2500/1203 ( Continued ) 14A—2500/1203 ( Turn Over )



( 4 )

C<PIC-il ̂  ^vS : iox^=^o
(^) bm ^50% :^Sj^ T^

?"# W I

C'^) ^5n% %jt^ ^icojib^
I

(^) ^5n% ̂  ̂ ̂ .STO ^ ft^

^IC«11bHI W I

W  fff
^ ^51^2^51^ ifT^ I

<?? <fl^ 2fC*m : io

(^) ^5|^ ̂ ? '^if^'^ ̂ #5

^R»raC^ "<ll^j ̂ fb^TT "^»C?rT I

;i,+(^'<^)+(^x8)=bo

('^r) 'OT *1^' ^ c^^iTO?
GJf^ ̂  W ^Tl^5l«f
^ TO "TO I

^+(^'<^)+(^^8)=bo

14A--2500/1203 ( Continued )

( 5 )

<\ I (?r C^PCT 1^TO 2TO Csir^fT :

(^) W\(M TO Wm ̂  ^ 2M4

W ""if^OT ^ tnl^ vs

(^)

bo

(^) C^TC=ZT ^5R*!2I^«m c^m

★ ★★

14A—2500/1203 3 (Sem-4) BEN MIL



3 (Sem-4) NEP MIL

2 0 14

NEPALI

( Modem Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. 1^3^ :

(^) w ^

(n) ^ Tl^^l

(^) mm ill

(:^) T53EI

(^) '«nT?ft?r'-Tn 3rrq^

(^) ^qT33^i

(^)

(^) S^oqq|x(et, ^q^jjchj

(3T)

14A—1500/1229

1x10=10

( Turn Over )



5x4=20

(2 )

2. ^ ^ ^ 2x5=10

(^) 'SFm X ik^ ̂  ychKcbi

(^) oqo^ ̂I^chl mR^INI RpXl

(T) 1ig pZT :35TB^

(^) • <444»Kch ^?1^?

(^) ̂  ̂WfhFT 3Ic^ -91^

3. ̂  ̂l«dr TRFRit ̂  :

(4;) 3RRiih> ilR^ *rf^?

(^) ̂  ̂ ycHKehl ^^35^1

(^f) <R3w

(^) ??S iPTRRiT

(^) ^q^pf ̂

3pf :

ai#@T ̂  ; WJ Mis^ ; HTSt dl«i^ ;
; "5® ̂ ^1

4. TjiWi 3RFI^ ̂  1^5^ (V T V 3^tof ̂  :
10x4=40

(^) te«F Wi<t»i ̂  TO %-% ^dq>d

1^1

14A—1500/1229 ( Continued )

{ 3 )

(^) T?TO Hfqro 1^TO :

(i) 3TOP^ ̂Hi<rfl «fi[^r«4

^iil

(iii) ^ ^fFR, 2014

(tt) 3;FTO ^ y<t)K4)l ^? 3lrN^
^^wra%ct i§rrap^i

(^) a^TORm ^IRqj ̂  ycbKcbl ^ ̂
%-% fi?

(^) TOTOt rRtoT 1^ ̂!RRJT 31^^ TOOT̂ flcT

1^33^1

("^) ^qieft TOT^ TRROT ^? pTTSpt^l

(js) acra^RR %-^jf^
J<4l^<"W[Sd 3Rp

(^) *toh't mm %-"qR?n aqw ^

★ ★ ★

14A—1500/1229 3 (Sem-4) NEP MIL



3 (Sem-4) Alt ENG

2 0 14

ALTERNATIVE ENGLISH

( Non-fictional Prose )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : lxio=io

(a) Who is the author's friend in the essay,
Sir Roger at Home?

(b) What is the name of the periodical

in which the essay, On Idleness was

published?

(a) What is Lethe?

(d) With what nickname did Dr. Johnson

address Oliver Goldsmith?

(e) What are Pan's pipes?

(f) "Conquer anger by the power of non-
anger and evil by the power of good."
Who do you attribute this idea to?

14A—4700/1202 ( Turn Over )



( 2 )

(g) Who is the poet referred to in the article,

The Poet's Anxiety?

(h) Who is a hypochondriac?

(i) Who is Sigmund Freud?

(j) What are nicknames?

2. Answer any five of the following questions :

2x5=10

Who are the members of Sir Roger's
family?

(a)

(b) What is the remark of the moralists

about pride in the essay. On Idleness?

(c) What is Hazlitt's opinion of satirists?

(d) Why is Jallianwala Bagh famous for?

(e) What did Gandhiji say about Non-

cooperation in the essay, The Poet's
Anxiety?

(f) Who is an irrational man?

3. Answer any three of the following questions :

10x3=30

(a) State Johnson's view of the human vices
of pride and idleness.

(b) Comment on the use of humour
and pathos in Lamb's essay, Dream
Children—A Reverie.

( 3 )

(c) What is Gandhiji's role in the Indian
Freedom Struggle according to Tagore?

(d) How can psychoanalysis be'used to
promote rationalism?

4. Explain, with reference to the context, any
three of the following ; 5x3=15

(a) There are moments when the mind
refuses to be satisfied by evolution,
and demands a ruddier presentation of
the sum of man's experience.

(b) Power in all its forms is irrational—it is
like the horse that drags the carriage
blindfolded.

(c) No Indian can feel anything but pride in
the poet's exquisite jealousy of India's
honour. It is good he should have sent
to us his misgivings in language at once
beautiful and clear.

(d) The caution is this : if you do lie in bed,
be sure you do it without any reason or
justification at all.

(e) A closely similar method can cure the

irrationalities of those who are not

recognized lunatics, provided they will

submit to treatment by a practitioner
free from their delusions.

14A—4700/1202 ( Continued ) 14A—4700/1202 ( Turn Over )



( 4 )

5. Write an essay on any one of the following

topics : 15

(a) Challenges to national integration in
India

(b) Natural resources of Assam

(c) Role of political parties in Indian

democracy

(d) City life

★ ★ ★

14A—4700/1202 3 (Sem-4) Alt ENG

' 3 (Sem^) ASM MIL

2 0 14

ASSAMESE

( Modem Indian Language )

Full Marks : 80

Time : 3 hburs

The figures in the margin indicate full marks
for the questions

:  - yx:>o=io

(^) CW{ *#^1^ ^ ̂ ?

(^) cw ?

(«) Ml'v5 C4H(ll5l *=3^

i"

14A—50*/1167 ( Turn Over )



( 2 )

(W) <i'8?^<?ra Wrt^l^ C^sTO^

^ ?

(^) Wit5|C?r ^ ̂

C<P^^ ?

^5nt^7

^ I ; ^X(J=^0

W "^irspiR^ C^vo|4»<^ ̂  C^ 'TO

W (^ ̂  ̂  ^91%? ̂  mm

(^) \5!^ ̂ Pi^<r ^9|^ "'rt^ ̂ ^5
c^5^ 1% ^snfl^ ?

W  ̂rniR ̂  WHTT l" *^911^'
c^y ̂

(®) TO C-ncvs c^ ^RT%5 ? c^vS

I 3 )

oi IMi (1^ c^ic=?nni^): (?x8=^o

(^) 2lhS<p #o I

(''f) c^fi^ir^nro ^spsjiCT ^nwTO ̂1^7it®i ctot

^snf^ 'oiiPicci ?

(5f) 'xbITO'^ xsT^ OifM'Sl^ CTOPR'R TOT

■<lf^ I^Nt I

(^) 'TO^' 'im^TO^iiiT01%?

(^) CTOWR fsp^n C2??IS teT*lt^
^9f%I?

(^) v^(^^lPi<p ^"'l^nPR 1^C*RWT^ ^KTI

g I (^) 'c^w^' 91^ ctoT TO? CTOTTO^
TpTlwlBl^b^? io

*v5T^R1^!irRT' 1^ CTO^TT «£J^ -^[TO IBfe
to^-'TTO I

(^) 'vSlTO' miSl 1^ TO I bo

14A—50*/1167 ( Continued )

(5ci>7 ft TO(T, 1tot I

14A—50*/1167 ( Turn Over )



I 4 )

(5f)

^TO^ltf I ^o

*Pi4oi \o<i»vo'"^ oR<iici>i Rcsl<i®f I

<t\ ̂  iM (1^ CTOt :

W  ̂riR

(^) ^

(^) ^nfi 1*i^»i^

(^) ^

★ ★ ★

^o

3 (Sem-4) ECO

2 0 14

ECONOMICS

(General)

( Indian Economy with Issues of North-East )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1, Answer the following questions

^5^ 1?m 1%^:

1x10=10

14A—50*71167 3 (Sem--4) ASM MIL

(a) What is the present place of tertiary
sector or service sector in national

income composition in India?

"41

cm W Wl ?

(b) What is the present position of Assam
in per capita income of India?

C'«Pi£)VS ?

(c) What is State domestic product? ̂

(Tt% 1% ?

14A—12*71230 ( Turn Over )



( 2 )

(d) Why is agriculture called as primary
sector?

■^R<p ^ ^ ?

(e) Mention two important challenges of
agriculture in Assam.

(fj Mention two major crops of Assaun.
^spTSR ^ £r«fH ^ ^ i

(g) Give two causes of low agricultural
productivity in North-East India.

%T 1

(h) What is the relation between productivity
and ecological imbalance?

(i) Mention the name of two non-renewable
energy sources of Assam.

I

(j) Write the name of land tenure systems
in India.

smt ISri

14A—12*71230 ( Continued )

( 3 )

2. Answer the following questions :

"Rrt :
2x5=10

(a) Mention the main remedial measures to
raise agricultural productivity in India.

xotod fR^
^ I

(b) Mention the various sources of
agricultural credit in India.

1

(c) Write two remedial measures for
improvement of agricultural marketing
in Assam.

wm fR ^ ^
af^^R^ Rrti

(d) state two reasons of unbalanced
localization of industries in India.

^»RiR <5RTTRj9^ "^l^WR ^ ̂R«t
I

(e) Explain the role of industries in economic
development of North-East.

^RT1

14A—12*/1230 ( Turn Over )



( 4 ) ( 5 )

3. Answer any four questions

1^ C<PlC*il :

5x4=20

(a) Explain the reasons of changing sectoral
composition of national income in India
after liberalization of economy.

C*!«Pv£iF»Fo<P I

(b) Explain the necessity of reforms of
land tenure system to raise the

agric\tltural productivity in India.

(c) What are the important drawbacks of

road transportation in North-East?

1%i%?

(d) What are the difficulties of railway
transport expansion in North-East India?

(e) Disinvestment policy will solve the
problem of public sector enterprises
in India. Explain.

RRlHdill'SrH

wnr I w I

(f) Explain the importance of non-
institutional sources for agricultural
credit in India.

4. Answer any four questions :

1^

10x4=40

(a) Explain the features of agriculture in
Assam. Do you think that the Second
Green Revolution is necessary for
North-East to raise the agricultural
production?

^

(b) Explain the various problems of
industrialization in, India. Do you think
that wrong industrial policy is one
of the important causes of
industrialization?

low

■^5H^ "wnpT^ I
^  vsfet 2f«|H "W®!

14A—12V1230 ( Continued ) 14A—12*/1230 ( Turn Over )



( 6 ) ( 7 )

(c) What are the causes of high population

growth in India? Do you think that

population explosion can be cause of

low economic development?

1% i%? ^«r

^ ̂ vjjHIChR* ?

(d) Explain the role of natural resources

in economic development. Do you think
that excessive use of natural resources
is good for the development?

^ I ai-^l^<p

(^) What are the dUBferent weaknesses
of road transport in Assam? Give
some suggestions to improve the road

communication in North-East.

-mm 1% # ?

<\iii-sch ^?iFo<q •'KpK
I

(f) Explain the trend and composition of

national income in India after economic

liberalization.

1^ ^5im

^  ̂ I

(g) What are the major drawbacks of power
sector in Assam? How is it related to

overall slow economic development?

wm c^aj^ 2f«n=T ?

★ ★ ★
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SANSKRIT

( General )

Pull Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in EngUsh or in Assamese or in
Sanskrit if no spectfic uistruction is given

1. Answer the following questions :

v55I^

1x5=5

(b) What term is used to name the divisions of
the Ramayanal

(b) Who is the

cw?

(c)

Who is the referred to here?

14A—1200/1251 ( Turn Over )



( 2 )

/

.  (d) Which ̂  of the Makabh^ata is prescribed
as your text?

c<pHc^i ̂  csTsnc^n^ ̂

(e) What are the two broad divisions of a ? •

2. Write very brief answers to the following
questions : 2x4=8

r.

^5if% ;

(a) wr;''

What is the meaning of this statement?

(b) Fill in the blanks :

3^^- ——I
FPfihrtMiRl: HH^p!|Rri|

(c) What is '3TfiH7f'9

(d) Explain :

^JNJT :

14A—1200/1251 ( Continued )

{ a )

3. Explain, with reference to the context, any one of
the following verses :

(a)

II

(b) qrfpT tRrtI

1^:11

4. (a) Write a note on the literary excellence of the

Balakanda (Chapter-I) of the RiunSyana.

(gfijpf Tisf)^

Or/"smr

(b)

Who is the speaker here? Summarize his

speech.

^1^ CTO ? ^TRT^

^ I

I - 1

5. Elucidate the idea contained in any one of the
following :

^5^ % ft CTOIT «i(5R :

(a) ^ wi^3^i

(b) aift^ ^Riwit ̂ :i

10
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6. (a) Discuss the duties of a person in the
stage as you find in your text of the

Mababh^ata. 10

^  ̂IdellHl ̂  I

(b) ''1% ̂  Winter

Who is the speaker here? Write a note on

as you find in your text.

^  ̂ cw? cs\m ̂
^ C^RSt Spg^ I

7. Write short notes on any two of the following :

5x2=10

CWli ($rsT :

8. (a) ^ 35^;'

What are those subjects should not be
performed in the stage according to the

Chapter-VI? Discuss. 10

14A—1200/1251 ( Continued )

( 5 )

Or /

(b) Write a note on the salient features of,

'aw*^ dsm ^ I

9. Explain any two of the following Sutras : 4x2=8

W5 %T ̂  ^ ^^TNJT W : "

(a)

(b)

(c)

10. (a) Give the resulting forms of any five of the
following: 1x5=5

:

^ ^ j ^ + 3Hk j "f^ + ̂  j

^ +^i

(b) Explain (any one) : 2

(i) ^

(u)

★ ★★
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Em^IRONMENTAt STIJDIES--II

Full Marks : 40

Time : Two hours

The figures in the margiri indicate full marks
for the questions.

Answer either in English or in Assamese.

^  (a) Write the meaning of the following terms—
*  4

(i) Smog

(it) Secondary pollutants

(in) Chain reaction

Contd.



2.

(iv) Zero population growth

(b) Illustrate the following terms — 2>«3=6

0) Watershed management

(W. Climate change

(Hi) Acid fain

Answer any two of the following — 5x2=^1^

(o) Give an account of air pollutants. What are
their sources ?

Tftf^ ̂  I

(b) What are organic pollutants ? How do
determine the organic pollutants of a
body?

3 (Sem 4) ENS/G «

St^ WHMH ? 4W^5=ltoR W
af^

(c) What are the major sources of soil pollution ?
How do you reclaim polluted soil ?.

•$nW ^ "siS (sscRtRs

<3fR

3. What do you mean by earthquake hazard ? How
do you prepare to face a disaster caused' by the
occurrence of a big earthquake ? Explain. 10

\^<p~s>|j( 'snt?! ̂  ? tst®^

Or (W^)

Briefly discuss the salient features of Forest

(Conservation) Act, 1980. Discuss the issues
associated with the enforcement of the Act.

Forest (Conservation) Act, 1980 ̂  ̂
MIMIM ̂  141; g^sR

3 (Sem 4) ENS/G 3 Contd.
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4. Write short notes on any two of the following —

5x2=10

elicit 1%^ —

(a)' Wildlife (Protection) Act, 1972 and its

effectiveness.

Wildlife (Protection) Act, 1972

<^!WttWI

(b) Solid Waste management.

(c) Human rights

.  -AS . nO

^L.

yy.nfi'] oil ..^a ; ,

>jr 3i3' lo iujoi^^ -iOv jfti fill I .. .

TT^-. ■•?!; 0ii91 J'j/-. ..(n«ul6vi^j'/h : • • .

'  * *v. '
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